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FIFTH SEMESTER (SCHEME-2012)
MODERN OFFICE MANAGEMENT
INCOMETAX -1

Time : Three Hours Maximum Marks : 100
Note : i) Attempt all questions.
Tt vl & IR ifor
ii) All questions carry equal marks.
Tt w9l & i T B

iii) In case of any doubt or dispute, the English
version question should be treated as final.

ot +ft R & g sear R & fRufy §
SfT AT & UsH Bt 3ifyH 7 SR

UNIT-1/%&13 -1
1. What is Income Tax? Describe the history of Income

Tax in India. What are the basis and procedure of
charging Income Tax? 20

TR TT ¢? YR § AR & AT o7 goig
HIRT| IR T BT YR AR Ry &7
OR/31em@r
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Define Agricultural Income. Compute agricultural
income from cultivation of land.

Sale of agricultural product Rs. 1,60,000
Depreciation of equipments Rs. 6,000
Labour charges Rs. 24,000
Cost of seeds Rs. 6,000
Cost of fertilisers Rs. 3,000
Electricity charges Rs. 12,000

PR o o TR Hifg ot R B @ J oY
I ST BT

Y IauTg Pt fAht I o Rs. 1,60,000
SUHRN TR ET Rs. 6,000
59 Y Rs. 24,000
i1 e Rs. 6,000
Qe & dnTd Rs. 3,000
feroreft Rs. 12,000
1182 \/
F/2017/6563 Contd.....

https://www.rgpvonline.com



3)

UNIT - I1/3®1 - 1I
2. What are Perquisites? Give two examples for
perquisites that are taxable in specified cases only.

20
ST &7 3 2 e P U < Ig1Eeu SR o) b
fafre srfamal &t gom & @) A A &2

OR/a7erdr

Sri Kamal Kant is a Govt. employee. His salary details
for the P.Y. 2014-15 are as follows :

i) SalaryRs. 16,500 p.m.
i) D.A.Rs.6,000p.m.
11) Entertainment allowance Rs. 1,500 p.m.

Compute his net income from salary for the A.Y,
2015-16.

At e DI TP IRBRT PHART T 71T a5 2014-15 BT

i) I B. 16,500 7P
i) #EME 9 %, 6,000 9IRS
i) FARSE 99 %, 1,500 91

qiftep a¥ 2015-16 & da- A T Y 3R FHt 70T
P

@)

UNIT - 111/ 578 - X1

3. Explain the provisions of Income Tax regarding

encashment of earned leave. 20
A argeper & o I W Felta AR H Her
SEEIEDE

OR/arar

After serving for 33 years and 9 months in Bharat
Chemicals Ltd. Mr. Rajesh who is covered under the
payment of Gratuity Act retires from service on 30th
November, 2014. The Company pays him a gratuity
of Rs. 9,00,000. His monthly basic salary at the time
of retirement was Rs. 30,000. Dearness allowance
Rs. 9,000 and H.R.A. Rs. 4,500.

You are required to determine the amount of gratuity
exempt under section 10(10) of the Income Tax Act.

TR Pieer fifes § 33 af 9 AE At A B
SRi £f, T 3, S reggd e st o s
7T &, 30 TR, 2014 ) Jyaep1er Tgur R et
399 $.9,00,000 ez 1 g | S AIRis
A ATHIY TET DR $ G . 30,000, FETE M
. 9,000 TAT FpE faRmm w1 . 4,500 @
s g St a7 10(10) 7 3Fwfa AR § ga
Tregsd) &t fd $t mom B
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UNIT-1V/3@7% - IV IR R Rs. 20,000 p.m.
4. Explain the following : Any Two 20 YT HIRA SR FRATT
;g) ?Immnﬁjﬁzt & BT YA TR qIfenT 5o &1 20%
iii) Provisions regarding Interest on Loan ST febRrT Rs. 40,000
Frafied ot Twsmsd (@15 3)) frm 4 61 oref gt At 21
i) arfe 3o
ii) HrTep fammn UNIT-V/3&18 -V
iii) T IR &9 § Fafod Urag= . Explain clearly the deductions that are exprf:ssly
OR/a7er nder e Tnian ncome T A 196136
E;?:; t(t}e: t{}c;ﬂ;gggmfonnahons compute the Annual IR & T & o R & m R 1961
Municipal value Rs. 1,50,000 sl T Fligd aifi @ W
Fair Rent Rs. 1,80,000 OR/a1@T
Standard Rent Rs. 1,60,000 What is a Block of Assets? What is the method of
Actual Rent Rs. 20,000 p.m. computing the W.D.V. of a Block of Assets?
Municipal Tax paid by the Owner 20% of M. V. Tl ol o a1 2l 2 ? Wil & ol @ @
Unrealised Rent Rs. 40,000 qufsrea T freprerT St 7T R E?
Conditions of Rule 4 are satisfied.
[T Sl 1 AT A Q1 Aed @ e o - e -
TRUTleTeT Jea Rs. 1,50,000
Sferet faman Rs. 1,80,000
A femma Rs. 1,60,000
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